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(D) Prime i\‘i(\inister

.e
\'\‘

2, The Tomb of the She%' Shah is situated in :

%

@) Agra " (B Chunar
A
(C) Sahasaram ®) Aurangabad
5,
5
3. World Population day is: \

@  7thJuly ® 11th

© 5%hJune M) 42 October

4, SAARC was established in

@ 1985 ®

€ 1986

5. The next term in the serigs
17, 9, 10, 16.5, 35,

@ 92

© 60

6. IfZ = 52 afAd ACT = 48, then BAT will be equal
to:
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10.

Hitesh is richer than J aya.

\Mohan is richer than Pritam.

Laljt is as rich as Jaya.

What concligion can be déﬁnitely drawn from the
above statem‘hits ?
\

A Jdayais poo}g\r than Pritam

W,
Y
1y
W,

(B Mohanis richef*‘than Amit
\.\
(C) Pritam is richer tha\if\ Lalit
N

(D) Lalitis poorer than Hiteé}\x
\

\
\

Find the word which best expresses the
of the word FORMULATE"',

ing

(A) Frame ® Apply

() Contemplate (@) Regularise

Find the correctly spelt ;vérd :

/

(A)  Attendanse (B) Attendance

(C) Attendin D  Attendence

Write angonym of ' EXPAND :

Condense

Conclude
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(© Contemplate D) Regularise
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12.

13.

14.

15.

16.

17.

Which of the following statement is correct

according to Chargaff's rule ?

(A) All DNA molecules contain the same
proportionof A, C,Gand T

(B) Single stranded RNA molecules contain the
same amount of A and U

(© In double straned DNA, the amount of T
equals the amount of C

) Indouble stranded DNA, the amount of G
equals the amount of C

If mother is carrier of colour blind gene and father
is colour blind, the possibility of colour blindness
in their children will be :

(A)  50% daughters and 50% sons colour blind

B) All sons colour blind and all daughters
carrier

(©) Allsons and daughters colour blinds

D) 50% daughters and all sons colour blind

Which of the following statement is true for
ribosomes :

(A)  They are self replicating organelles

(B) They are double membrane bound organelles
(©) Their components are coded by DNA

(D) These are made of deoxyribonucleo protein

If in a family the blood of children is either A, Bor
AB and of their father the blood group is B, what
will be the blood group of mother ?

@ A ® B

© O ®) AB

During cell division chiasmata are formed
between :

(A) Sister chromatids of homologous

chromosomes

(B) Non sister chromatids of homologous
chromosomes

(¢ Chromatids of Non homologous
chromosomes

(D) Chromonemata of the same chromosome

The first man made cereal crop is :
(A) Secale B) Triticale
(C) Raphanobrassica {D) Golden Rice

Nucleosome core consists of one of the following

histone proteins :

(&) Two molecules each of HyA, HyB, H3 and
H,

B) Two molecules each of HyA, HyB, H, and
H3

(O Two molecules each of H;, Hy, H,and HoA

@) Three molecules of H; and H, and one
molecule of H;
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19.

20,
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22.

23.

24,

The vegetation bearing pneumatophores are
commonly found in :

(A)  Arcticregions B)
(G Coastal areas D

Tundra regions
Thar desert

In a forest having large number of lianas, woody
climbers and trees, the relationship between
them is called as :

(A} Mutualism B)
(C) Epiphytic D)

Symbiosis

Commonsalism

Which is NOT correct for detritus food chain ?
(A) Itis asaprophytic food chain

(B) It is essential for recycling of minerals
(C) Itis fully dependent on Sun energy

(Dy It is very important for grass land
ecosystem

The area where rainfall is heavy with a long dry
period has grass field with scattered trees, this
is called as :

(A} Chaparral field
(B) Savannah

(C) Rain forest

(D} Deciduous forest

Of the following the medicinal plant is :
(A)  Ficus elastica

(B)  Penisitum typhoides

(C) Brassicacompestris

D) Widhania sameniferum

In terms of biomass, the most productive ecosystem
in the world is

(A) Grassland ®
(C) Lake )]

Cropland
Estuary

Fibre of great commercial importance derived from
epidermisis:

@A) Corr ®B)
(©) Cotton (D) ° Flax

Hemp
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Wobble hypothesis in genetic code shows that :
(A) Codon of genetic code is a triplet

(B) The third nucleotide of a triplet does not show
specificity of the codon

(C) Same genetic code is found in all living
organisms

(D) There are 64 codons and each amino acid
is coded by one or more codons

During protein synthesis the initiation of
polypeptide starts with an amino acid and the
codon. These are :

(A) Arginine and CGU

(B) Methionine and AUG

(C) Valine and GUC

(D) Phenyl alanine and UCU

The function of restriction endonuclease enzyme
is:

(A) It recognises and cuts off DNA at specific
site

(B) It synthesises m-RNA on one strand of
DNA

(C) It breaks hydrogen bond between
nucleotides of DNA during replication

(D) It helps in annealing the DNA fragments

Cosmid vector has DNA of one of the following :
(A) Bacterial plasmid and bacteriophage

(B) Bacterial chromosome and its plasmid

(C) Any virus and bacteriophage

(D) Bacteriophage virus and any organism

The genetic engineering which occurs in nature
is seen in:

(A) Phosphorus uptake by mycorrhiza
(B) Nitrogen fixation by Rhizobium inlegumes
(C) Bacterial binary fission

@) Infection of Agrobacterium tumifasciens in
plant
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30. The ¢ DNA library contains one of the
following :

Y

®)

©)

(D)

The transformant bacteria that carries all
the nucleotides of an organism

The transformant bacteria that carries all
the m-RNA of an organism

The transformant bacteria that carries all
the m-RNA and t-RNA of an organism

The transformant bacteria that carries one
strand of DNA of an organism

31. In operon model of Jacob and Monad the genes
are arranged in the sequence :

(A)

®)

©

()

Structural gene, Promoter gene, Regulator
gene and Operator gene

Operator gene, Regulator gene, Structural
gene and Promoter gene

Regulator gene, Promoter gene, Operator
gene and Structural gene

Promoter gene, Operator gene, Regulator
gene and Structural gene

32. Richmond Lang effect is related with one of the

following :

(A) Delay in senescence due to kinetin

(B) Curvature of Avena coleoptile by Indole
Butyric Acid

(C) Induction of bolting in plants by spray of
Gibberellin

(D) Induction of parthenocarpy in fruits by
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34.

36.

37

Which of the following is true for Pigment system-
I?

(A) Itismainly presentin stroma

(B) It absorbs both shorter and longer
wavelength of light

{C) Itisrelated with photolysis of water and
liberation of oxygen

(D) Itcontrols synthesis of NADH from NADP

In C, plants, the acceptor of carbon dioxide and
first stable compound respectively are

A) Ribulese 1, 5-Biphosphate
3-Phosphoglyceric Acid

(B) Ribulose biphosphate and Phosphoglycolate
(C) Pyruvate phosphate and Malic Acid

() Phosphoenol pyruvate and Ooxalo acetic
Acid

and

.. In apractical class, small pieces of opentia stem

were taken and kept in the flask of Ganogs
respirometer and the flask was covered with black
paper. After 12 hours, the volume of carbon di oxide

- and oxygen was calculated, the ratio of CO, and

0O, will be :
@ 0:1 ® 1:0
© 1:1 ™ 2:1

. Competitive inhibitors of enzyme interfere with |
* the activity ofenzyme by one of the following :

(A) Byaccumulation of end product

B) By attachment on active site of enzyme
(C) Bylysisofenzyme

D) Bydamaging the active site of enzyme

During catabolism of fat, it is hydrolysed into
glycerol and fatty acid. The glycerol enters into
glycolysis where as fatty acids are converted into
Acetyl Co A by:

(d) «o-oxidation

B) Glycolate pathway
(Cy B-oxidation

o enteriﬂg in kreb cycle
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39.

40.

41.

42.

43.

Transport of water on lateral side of the plant is
mostly through :

(A)  Sclerenchyma fibres

B) Collenchyma cells

(C) Xylem parenchyma cells
D) Raycells

In a practical class of plant anatomy, the fully
mature dicotyledonous root can be differentiated
from its stem by :

(A) Absence of secondary xylem
(B) Presence of secondary cortex
(C) Absence of primary phloem
(D) Presence of protoxylem

The one which is true for Sclerenchyma cell is :

(A) Cells are dead, cell lumen reduced and cell
wall of lignin

(B) Cells with protoplasm, intercellular space
present and cell wall of cellulose

(C) Cells are dead, cell wall of cellulose with
simple pits

(D) Cells are dead, cell lumen reduced and cell
wall of suberin

In periderm, the outer, middle and inner layers
are in the order :

(A) Cork, Cortex and Cork Cambium
(B) Phellum, Phallogen and Secondary Cortex
(C) Epidermis, Cork and Secondary Cortex

(1) Phellogen, Phelloderm and Secondary
Cortex

Lateral roots develop from : -
(A) Epidermis

(B) Endodermis

(C)  Perieyele

(D) Pith

Which is most
mycorrhiza ?

important function of

(A) Inconservation of water in the soil

(B) Helps Rhizobtum in fixation of Nitrogen
(C) Instabilizing the plant in new soil

(D) In uptake of phosphorus by the root
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45.

46.

47.

48.

O

Botanically the Potato, Sweet Potato and Wheat
Grains are :

@
®
©
®)

Root, Stem and Ovary
Stem Node, Root and Seed
Root Nodule, Stem and Ovule

Stem, Root and Fruit

The ‘leaf of plant with almost equal number of
stomata on dorsal and ventral surface of leaf are
found in;

(A) Wheat

(B) Neerium

(C) Ficus
Tomato

“About 45° rotation of carpel from the axis and

spadix inflorescence respectively are foundin:
@
®
©
®)

Liliaceae and Asteraceae family
Solanaceae and Palmaceae family
Convolvulaceae and Apocynaceae family

Acanthaceae and Poaceae family

National Botanical Research Institute is situated
at:

{A) New Delhi

(B) Calcutta

(C) Lucknow

(D) Andaman and Nicobar

In monosporic embryosac development of
Angiosperm, the number of divisions in the
nucleus of megaspore mother cell is -

Ay 17 B 5

© 3 D) 8
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49.

Pollen grains of Angiosperm has sporopolenin
compound in their wall. It helps in:

(4) inducing generative cell to divide
(B) imbibition of water for germination
(C) emergence of pollen tube from germ pore
(D) providing resistance to the pollen grain
50. The perisperm in seed is remnants of :
&) Nucellus
(B) Outer integument
(C) Innerintegument
(D) Synergids
51. Alfa Taxonomy deals with:
(d) Chemoctaxonomy
B) Descriptive taxonomy
(C) Experimental taxonomy
(D) Classical taxonomy
52. Which of the following are hetero sporous
plants:
(A) Marsilea and Sellaginella
(B) Equisetum and Psilotum
(C) Sellaginella and Equisetum
()  Marsilea and Psilotum
53. The sporephytic plant of Cycas and Wheat has
chromosome number 22 and 46 respectively. The
Eumber of chromosome in their endosperm will
e: .
(A) 11and 23 (B) 22and 46
(C) 83 andé69 (D) 69and 11l
54. Nostoc algae 18 found in :
(A) Cone of Ephidra
(B) Root hairs of Pinus
(C) Coralleid root of Cycas
(D) Pinus needle
55. In ferns the reduction division occurs in :
(A) Prothallus (B) Sporangia
(C) Zygote (D) Gametangia
19-Botany
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56.

67

59.

60.

61.

62.

Winged pollen grains and motile male gametes
are found respectively in :

(A)  Gnetum and Cycas
B Zamicand Pinus

(@ Pinusand Cycas

D) Ephidraand Gnetum

Lepidendron is fossil of the period :

(A) Permian ®)
(C) Devonian D)

Silurian
Carboniferous

The medicinally important plants are :
(&) Ephidra and Taxus

B Sellaginella and Willian sonia
© Lycopodium and Rhynia

Oy Cycasand Pinus

The Phyllum Phaeophyceae of Algae shows one of
the following characters :

(A) Pigment phycoerythrin, food as
Laminarian starch and mostly marine
habitat

(B) PigmentFucoxanthin, Laminarian starch
and mostly marine habitat

] (©  Pigment Xanthophyll, Floridean starch and

mostly fresh water habitat

(D) Pigment phycocyanin, simple starch and
mostly marine habitat

The algae which shows tetrasporic plant in its
life cycle is :

A) Vaucheria B) Chara

(O  Polysiphonia D) Ectocarpus

Stomata, Photosynthetic cells and Peristome teeth
are found in capsule of :

(A) Riccia ®)
(C) Anthoceros D)

Marchantia
Funaria

In lichens the mycobiont are mostly members
of :

(A) Ascomycetes

(B) Chytriomycetes

({C) Deuteromycetes

D) Basidiomycetes
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70.

Of the following characters, one which is not
common for phytoplasma and virus is :

@
®)
©
®)

Both are transmitted by insects

Both are killed by tetracyclin

Both multiply in plants and insects
Inability to culture in cell free medium

Vaccination for Rabies was discovered by :
(A) RobertKoch (B)  Fredrick Griffith
(C) LouisPasteur D) Ivanowaski

Dolipore septum and clamp connections are found
in hyphae of :

(A Only Ascomycetes

(B} Only Basidiomycetes

(©)  Only Deuteromycetes

(D) Ascomycetes and Basidiomycetes

Ascocarp of clevicepis a:

(A) Psuedoascocarp (B)
(©) Perithecium D)

Apothecium
Cleistothecium

In Puccinia the basidiospores develop from :
(A)  Acciospore B)
(C) Teleutospore D)

Uridospore
Pycniospore

The dormant mycelium of Ustilego tritici is present
in:

@)
©

Seed
Stem

Root
Leaf

®)
)

Fairy rings in forest are formed by the growth
of::

(4)
(€

Pilobolus
Morchella

®)
©)

Agaricus
Alternaria

In Albugo the sexual reproduction is
accomplished by :

(A) Gametangial capulation
(B) Somato gamy

(C) Gametangial contact
(D) Spermatization
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